Question 1b Flow Chart   
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(1) Initialize:


-Reserve 1 byte each for DIVIDENDHI, DIVIDENDLO, DIVISOR, CONSTANT1 (constant variable for value of DIVIDENDHI), REMAINDER = 0, and COUNT   











(3) Convert to signed numbers, 


check 7th  bit of CONSTANT1





Rotate DIVIDENDHI left through carry flag, and place 7th bit (now in carry bit) in REMAINDER 





Is carry flag set? (Is DIVISOR > REMAINDER)





(5a) Take twos complement of high and low byte separately and then decrement high byte





Clear carry flag





(4)Is bit set?





(5b) Call Divide subroutine





Reset carry flag  





Subtract DIVISOR from REMAINDER (7th bit of DIVIDENDHI)  





Save REMAINDER in WREG 





Set carry flag 





Decrement COUNTER  





(2) Store values in dividend and divisor





(6) Set COUNT = 8





Is COUNT =0





Repeat w/ DIVIDENDLO, save REMAINDER  from step (6)





Obtain final quotient stored in DIVIDENDHI





Assign sign to result by setting or clearing Negative flag








